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H}wﬁ'q‘ra:%rtraﬁaarllnstructions to the Candidates

1. 3% @RI AT e & T T a0 JHiet-oigeT 3T & MR W 39 fafad aier & e
3T T o §) A et de A el e By arerd ufafle iy & 91 e & A e
AT STRT T B il 3Tehr 38 RIAT IEdiehel S &I ST

You have been called for the written test based on the online data furnished by you in the web application, If
you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

9, TR, 80 AT & Jaret TeA-Geciaht & S A § 3R gl @1 3rafer 02 € ¢ |
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

3. IR el afgd axqiass YR & uee gl e & R v 3rifes &7 & Ter g |

The questions will be objective type with four options out of which only one will be unambiguously correct.

4, IS U9 HfaT 04 315 g 3R IcdF Tad 3cal HiaT Ueh 37k il AT |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. WAl H Iec oot o AT g@dl afd afRer 3ot AR SccR-gReder & sesf|
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.
6. 39, Scal-gfReenr & U 1T ISl & TR, wArell/Frell TATEN & Siet IS 97 A HNTHANR Seck-

Qe 7 Heifre 3ifder ST 3ifehel T FEY Sk T TG HaAT 5
You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

r 8 T&h Y21 & TolT 3feieh Seal Tl HIelT ST |
Multiple answers for a question will be regarded as wrong answer.

P.T.O



10.

1.

12.

13.

14.

15.

S art ey 3 AR ueA-qiede Aol #is . FTANR ek YT I Ffdse Tae )
forge =nfe T

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the
space provided.

q%ﬁ-g%lmﬁ 3R 1A aﬂnagmﬁich e |

Enter your Name and Roll Number correctly in the question booklet.

me-g%mﬁmﬁgﬁﬁaﬁﬁaﬁmsﬁw@%ahmﬁaﬁﬂﬁﬁaﬁrmﬁaﬁm

All entries in the OMR answer sheet should be with blue/black ball point pen only.

qfYeTT afer 3 ordeTes iy SUTEUTY ¥ &1 31TTe! giel-eshe I gFceR = AT

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

TR whieT TeeaTe §16T 3 3aX Y, FIAHACT, AIISe B TUT Hedl FAFEI e FI,
UTSY-TEcish, e 3T ot At Ao =Tt & St

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not

be allowed inside the written test hall.

g ot 2t TR, HCHIR Seax-qfeden # TR & Se [Urd § W15 I HE AR
SecR-gecTel AT S Hi T gEd gfd 39e IIE T |

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over

the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

wreeT-gfeeenT areredt Y= U 3@ Tohd! 2

The question booklet can be retained by the candidates.

e 3 T 65 & SR 3t @ et giet Bise 1 AT e ¢

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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TJHEANRIT &) (Fai)- U€ H.- 1380/ Technician B (Turner)- Post No. — 1380

Screw pitch gauge determines —
(a) =TT &1 fa car@/Pitch diameter of threads
(b) = f=/Thread Pitch
(c) 3R YN & AET TR/ Ied I3T & Y A
Major diameter of internal thread / Minor diameter of external thread

(d) 39 @Al of the above

qﬂsﬁa%gﬁm%méﬁﬁvﬁamww%?

What is the suitable heating temperature for low carbon steels for forging?
(a) 720°C (b) 650 °C

() 900°C ' (d) 1300:°¢

FIET ST &F FOAT ITAR R, AeATad #§ F Hia-87 gad ATF HoT Gam?

Upon heat treatment of carbon steel, which of the following will give the maximum hardness?
(a) YHTATFGRIOT/Normalising

(b) UAHLOT/CTNAT/ Tempering

(c) IS & a1 UH/Quenching after austenitising

(d) 3t=Arelet/Annealing

FTaTes T & fAv ST FAEET & IHFAR IFTHAT 8...ovvee gl
As per ISO designation for carbide tools, ISO 8 is —

(2) HipdT HAT el/Offset facing tool (b)  Ifé&eT gel/Parting tool
(c) T TeBoring tool (d) e SIRET Te/Corner boring tool

faf@d # @ Sla-ar AR FT HTRT F6 g2

Which of the following is not a part of micrometer?

(@) ®9T/Leg (b) TEu==e/Spindle
(¢) ufEgerAnvil (d) T¥/Thimble

3 1380



6.

it RS i e F GURUIGAT RRE YR & SarelT ST 39dET fRar ST 87

In oxy acetylene gas welding, which type of flame is most commonly used?

(a) 3iferieARe FaraT/Oxidising flame
(b) el Fare/Neutral flame
(c) Em‘é?ﬂ' Farell/Carburising flame

(d) T it SR & SaTel i 3TN AT ST Hehll &
Any type of flame can be used

Sor & TR aoe FU AT ST THaT 87

How taper turning can be done in a lathe?

(a) RIA o &1 YT I §/Using form tool

(b) HIFITSE TATSC Al Fafoa gtf/Adjusting compound slide
(c) <TI He Téper attachment

(d) 3Fa THV/AL of the above

01270102 G 3 JTER & U B w1 Ae e fhdar &2

What is the fundamental deviation for a hole of size 81279V02 mm?

(@ 0.1 fA.FA/mm (b)  0.15 AA/mm
() 0.2&AA/mMm - (d 0.3 AAL/mm
e (fTe) dua a9 $ T FEATC ... gl

A special feature of radial drilling machine is —

(@) mw%a%m@amﬁ%ﬁvwﬂw%mm%
It can be used for drilling with HSS drill

(b) Tl Bod: TITARE T o T & am e off et 3 Tar o Jeer ¢
Table can be radially moved and set in any position

() e snie Tt & TV 3T el &7 9 3Tt U 16 3T el &
Arm can swivel out of table area to load jobs

(d) fafer aifa 3uastr §/Variety of speeds is available

1380



10.

11.

12.

13.

14.

15.

TTal@a & ¥ &g 3qaor & g & 87

Which of the following instrument has a Vernier scale
(a) IR FHfOW/Vernier caliper

(b) @ETHF Side WerFed/Universal Bevel protractor
(c) (a) Td (b) a=i/Both (a) and (b)

(d) = & (a), o (b)/Neither (a) nor (b)

FIT-HT F JSAN G@NT 1 afoen Sier gary fAsarfed fRar e &2
What is the function performed by jig but not by fixture?

(2) T @ &t #/Guiding the ool (b)  3Ts/Support
(c) ¥T«/Locating (d) “Rv/Holding

FHITIT g o 7 FlA-T7 Teh AR N WNHE Tl & T Siclel <ol T FEM Il Hl 57

Which component helps the cutting tool to make the master piece profile in a copying centre lathe?

(a) ©3/Rod (b)  #®/Crank

(c) <¢uYTracer (d) foe®/Link

AT gHATT TR & 38 & forw fEea gardy .......... & Bl

Slip gauges for purpose of general workshop applications are —

(a) Grade 0 FuMdT/accuracy (b)  Grade I F2midr/accuracy
(c) Grade II Fameidr/accuracy (d)  Grade IV Famdidraccuracy

frfoafa & ¥ Sla-a g8 [T gfsear w6t 82
Which of the following is not a thread making process?

(a) fAea=iMilling (b) esT/Rolling
(c) R/ Tapping (d) @feser/Hobbing
TOT gFEd A GI BT oo gl
- Thread Helix in a turn buckle is —
(a) ar#ATGd/Left hand (b) &f&omadiRight hand
(c) ®E T AENo threads (d) (2) TS (b)E=/Both (a) and (b)

S 1380



16.

1.2

18.

19.

20.

1.

DTS yatest F O fhEd 39 9% & 9T ST g 1 3TAET ATHGEIS BlI?

Using a 4-jaw chuck over 3-jaw chuck will be advantageous in which of the following operations?

(a) dEeI/Drilling (b) W gdeA/Taper turning

(c) 3hAT gael/Eccentric Turning (d) W=7/ Trepanning

Sear gAY & T e & H9=T % forw faar Siar &

Radius gauges are used to check —

(a) 3iafe F=avinternal radius (b) EF FSANExternal radius

(¢) (a)Ta (b)e/Both (a) and (b) (d) 39Fa § ¥ H1$ ci/None of the above
Brfaf@d F & wi=-ar safasor e

Which of the following is an interference fit?

(a) H7gb (b) HIf7

(¢) H7s6 : (d) Hk6

PR & @ S g carftes AT & Ay gqd @ dF T gk ok §T H FEsd
g7

Which of the following process squeezes matetial into peaks and troughs with plastic deformation?

(2) ¥f&WGrooving (b) AfeTKnurling
(c) qfFMWReaming (d)  SRETBoring

AT Ul & Peffdd § @ Si9-0 g T TS 7 TF 8eh T0l 57
Which of the following is not a constituent of plain carbon steel in annealed condition?
(a) Udse/Pearlite (b)  AEAATES/Martensite

(¢) WTEe/Ferrite (d) TaFerse/Cementite

g gEaT # FreT A wforrdar fhdel &2

What is the percentage of carbon in mild steel?

(@) 0.3% & &A/Less than 0.3%

(b) 2% ¥ &, g 0.3% ¥ 3if¥H/Less than 2% but more than 0.3%
() 2% & H&/More than 2 %

(d) 3I9FT & ¥ F$ 7gi/None of the above
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22.

23.

24.

25.

26.

27,

Refaied & ¥ S-G9 U AT 3YHT 6l g7

Which of the following is not a measuring instrument?

(a) gEMRIEET Hfauy/Hermaphrodite Calipers
(b) SEATT &s/Steel rule

(c) #FEHIFACYMicrometer
(d) TR FA9YVemier Calipers

Ae=faf@a & @ sl9-a1 Bl 3R 82

Which is a forging tool?

(a) ¢9yTaper (b)
(¢) vavaww AMER/HSS tool (d)
TAT icissscianss T AT £

Gauges are made out of

(a) @oral STUT/Cast steel (b)
(c) 3SRT sTara/Tool steel (d)

U338 wEe/Round file

gﬁm’Fuller

fear @y Wrought iron

g FEqTa/Mild steel

T AT aTIATT (ST9HTT T TUATT HH) Tl & TAT Fcled 3ISTRY GeTe T TEN 6 T 87

What is the correct order of cutting tool material for the maximum temperature (increasing order of

temperature) they can withstand?

1: 3T HleeT el 2: TIUHETH 3:
High Carbon steel HSS

(@ 1,2,3,4 (b)
) 2,3,4,1 (d
188+ 425 AT supus gl

The value of 11.38 + 1.2 is

(@) 11.50 b)
©) 12.58 (d)

drifeq sess

Cemented carbide

1,2.4,3
2,4,3,1

12.40
23.38

T FARIOT & JTHOT 70°,30° and x° E1 X FT AT Govvrrrerrenres |
The interior angles of a triangle are 70°,30° and x°. The value of x is

(@ 90° ®)
(c) 80° ()
7

100°
40°

4: TEART
Stellite
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28.

25

30.

31

32.

T Wi 31Ta T a9 # Tear ST § dr o T gear 9

If forging is carried out at very low temperature, what will happen?
(a) 37TEIh Yeehed 3cUeet aleil/More scaling will occur

(b) 3TETY & W 3cde= glai/Easy formiﬁg happens

(c) hfehar glell/Cracking occurs

(d) I W R%aT @ Seem/Forging surfaces will be smooth

sfior = g #, BT 3R e & 915 g far S §

In a grinding wheel specification, grit size is indicated after
(a) 3roedf yeRR(Abrasive type

(b) 9s/Grade

(c) U Y&R/Bond type

(d) s TIT=/Wheel structure

ﬁmﬁ@aﬁ@wﬁaﬁ%@emﬁ;ﬁﬁmmﬁmmmmﬁ
Which of the following is used to make a key hole in shaft for inserting a woodruff key?

(a) waEs/Drilling (b) MAfeaMilling
(c) QfAWShaping (d)  ad=/Turning

Pr=afld & & ROTeAS 3F HUT A I U AR & Farr F - 3 e 52
Which of the following is not correct for a tool with Negative Rake Angle?

(a) el PIOT YT g1 Sl o/The cutting edge becomes stronger
(b) el 1T T FA FT o/Reduces cutting force
(c) Tof 4% T S & vt 3SR 3 Y T ¢

Increases tool wear and decreases tool life
(d) e IFT 3UET FT AT g/Reduces cutting power requirement

.............. aﬁmaﬁ%mﬁaﬁrgvmﬁm, ofior =% & ST fFar ST Bl

Grinding in steels is done using grinding wheels with abrasive as —
(a) TR SiEEEs/Aluminum oxide

(b) o 3ifFargs/lron oxide

(c) Tafera wEEs/Silicon carbide

(d) g FTETEs/Iron carbide

8 1380



33.

34.

35.

36.

37.

T ¥ el Rles saree @ 3Ra AW S B, FIE |

Trepanning operation is preferred while boring because —

(a) IE Yere FaTar g/1t saves material

(b) TG Flel TAY HI AT &/1t saves cutting time

() I e IS8T URESolT & /1t gives better surface finish
(d) 39ded FeMALL of the above

frefafla & @ Ry oft & ugad Sda 3ieR 3T &7
Which of the following is a cutting tool used in smith shop?

(a) gaHardie - (b) gFYHammer
(c) Uirdel/Anvil (d) PerFuller
TE T FRFT e ¥ gedfa g

Catching of thread is associated with —

(a) o # TSr Sclei/Thread cutting in lathe
(b) =Sr fYanThread tapping

(c) I3 TATeean/Thread milling

(& =& SreaIRIferan Thread rolling:

o & O e F F OF g &, R HROT HAT §?

What is the reason for the fact that reamers usually have even number of cutting edges?
(a) TATE A HI A §I & flw/To make the diameter measurement casier
(b) T IcuTe T TEAT 11 & Tt/ To make reamer production cheaper

(c) STATAdT FeT T SfRvTadt Sdet 3 fore fo Y U T &

To make reamer suitable for right as well as left hand cutting
(d) B¢ Tdg W JX et F g9a & fAWTo avoid chatter marks at the hole surface

Frfatad § ¥ Fa-ar FEEs QY 3 o eR 7 i a8 8
Among the following, which is not a shape of carbide throw-away tip tools -

(a) dMemH/Round (b)  3IIAFER/Rectangular
(c) TRAZPyramid (d) eroTTriangle
9

1380



38.

39.

40.

41.

HEASE YT I Tl FAAE & TIU MPUHIN A & @R, ‘C.....e I 3MTH 3THId A
Twla 3 gl

As per ISO designation for carbide throw-away tool inserts, ‘C’ is representation of basic shape —
(a) deampR/Circular

(b) 55° IV HIUT & AT JshIvi/Rhomboidal with 55° corner angle

(c) 80° FIOTET FNT & FTT Tqehofl/Rhomboidal with 80° corner angle

(d) dmer/Round

HR AT A F WA QAP H AG T wed e WS F A fr afed @

Power of return of material to its original shape after deformation when load is removed, is known
as

(a) gHeI/CoTEeHN/Plasticity (b)  YcIRFYANElasticity
(c) THIAIToughness (d) gFaansStiffness
EHET SAT oveeee ¥ @fAa g

Hacksaw blades are made of —

(a) & A $EUTd/Low alloy steel

(b) 3== f?-f"ﬁﬂ@ S¥qTd/High speed steel

(¢) (a)@ (b) =T Both (a) and (b)

(d) 3udFd F ¥ F1E FGI/None of the above

Wiel A, FSAT & FROT AT I FAT el AT 82
In a forge, why does not tuyeres melt down due to heat?

(a) Nt dhr & 32 Tl & FROVDue to cold water in the cooling tank

(b) TIRR & FUW 3TIAMNHEE oU«l & HRUTDue to refractory coating over tuyeres
(c) TIRIR I IS o foIT qTed ATTHI I8! §

Temperature is not enough to melt the tuyeres
(d) =& ol wiet # e S &/Tuyeres also melt down in forge

10 1380



42.

43.

44,

45.

46.

SIS SIBISel &1 AUETOT oo, CaART AT & RRAT ST geear B

Inspection of complex profiles can be easily done by —
(8) TR FAUR 1 3T A §U/Using a vernier caliper
(b)  TEISI ST &T 3TN Flcd §0/Using a plunger dial
(c) T AT YATAY &7 3UALRT & gC
Using a vernier height gauge

(d) Tele T 3UFRT FA §U/Using a template

mﬁwﬁmowlmqgﬁdlﬁwﬁﬂ‘rﬁam%‘?

What determines the hardness or softness of an abrasive wheel?
(a) YT A1S1/Grain size (b)  §MvE YHR/Bond type
(c) 18 & U/Grade of bond (d)  3vust gHR/Abrasive type

M10 x 1.5 & faw =@ i g0 frast &2
What is the depth of thread for M10 x 1.5 —
(@ 0.92 fA.#r/mm (b) 1.5 /mm

© 0.2 /mm @  0.05 A.FH/ mm

T e F 3TANT G G, M0 aET I F AT A F R, wFw aamw glelr

A1igu|
For making M10 external threads using thread rolling, the blank diameter should be —

(@) 10TA.#H. & FAF/Equal to 10 mm

(b) 10 AN & +#/Less than 10 mm

(c 107+ @ FareMore than 10 mm

(d) el SaTH T 3981 7ET §/Blank diameter does not matter

NC contouring is an example of

(a) Had ¥ FY=/Continuous path positioning
(b) dUIge-T-9lSe FUTA/Point-to-point positioning
(c) FRUYET w=T=i/Absolute positioning

(d) arftie TUE=T/Incremental positioning

11 1380



47.

48.

49.

50.

31

52.

A TS A€ 9 & fow Feafaf@a # & Sla-ar sores sog7a a8 &

Which of the following operation is not applicable for making a regular hexagonal nut?

(a) MAeaMilling (b)  WfHEMFacing
(c) WAEA/Drilling (d)  Fic HRAWSpot facing

8 B, o & v o & v, A Rgate 3w F0a . e TR

For a hole of diameter 8 mm, the reaming allowance should be about —

(@ 2@ /mm () 0.8 F.H ./ mm
(¢) 0.2 F.#r/mm (d 0.6 H/mm
Teh 898 FST ... gl

A brazed joint is

(a) WIesT T ¥ gaer/Weaker than solder joint

(b) @resT € & waelStronger than solder joint

(c) afesd &fer & wareStronger than welded joint

(d) oI HiesRa | & gaa/Weaker than silver soldered joint

The standard temperature at which measurement shall be taken is —
(@ 30°C (b) 15°C

(¢ 20°C {dy  25°¢

Jod FE x2+y2 +2x -8y +7 =0 F ........ gl

Centre of the circle x* + y2 + 2x — 8y + 7 =0 is

(@ (1,-4) ® L4

(C) (29 '8) (d) ('29 8)

7m%mﬁmﬁmma€ﬁmﬂ§mﬁwmaﬁl 10 @7 & a1 ar &
m@aﬁaﬁrmgﬁah;m#aim@?ma%aﬁrmaaﬂgﬁmm%?

Father’s age 7 years before was one more than 3 times of his son's age. Father’s age after 10 years
will be 2 less than 2 times son's age. What is son's present age?

(@) 14 () 21
) 31 @ 43
12 1380



53. Trfaf@a IR aiaRe AT THAT F 3EwT gard e hafafe & dd H|

Match the following non-conventional machining processes with the corresponding material
removal mechanisms

afifeier uferan uerd fserae i feramfater

Machining Processes Mechanism of material removal

P : Tamafas #AMfSe/Chemical Machining | 1: 37R&s1/Erosion

Q: el A AT 2: F&TRr 3fAfHAT/Corrosive reaction
Electrochemical Machining 3: 3MgeT faEa9e/lon displacement

R: foega foer Hefiieiar 4: GTeRT TF qTSdYERIOT
Electric-discharge Machining Fusion and vaporization

S: qyrarer AN feer/Ultrasonic Machining

() P-2,Q-3,R-4,S-1 (®  P-2,Q-1,R-4,53
() P-2,Q-4,R-3,81 (d  P-3,Q-4,R-2,S-1

54. Fdigs ¢ S S P UN 12 03 08, & fw Jmgwash 3f¥ee & e N ... 2}
yiafaca #ar g

As per ISO designation for carbide tool inserts — S P UN 12 03 08, ‘N’ represents
(@) T ST FT FE/Class of chip breaker

(b) 3iRTET HIvT/Clearance angle

(c) WHAET HHid/Basic shape

(d) @fesurar @@/ Tolerance class

55. Rafea dftat & &Ror Tdiaor & GURS & fU &1 Sevarell wishar ... 8

The operation done on riveted joints to improve leak tightness

(@) 9T NfFT/Shot peening (b)  PafETFullering

(c) sfFIBucking (d) &FR/Hammering
56. ®&TdT AT FEd N7 & e arar 9 Ra AT (um FH)ecvvveecreneee gl

Ra value (in pm) corresponding to roughness grade symbol N7 is — |

(@ 1.6 (b) 0.8

{c) 32 @ 23

A 13 1380



57.

58.

29.

60.

61.

10013?(.?&.éﬁﬁa}:ﬁvwmmW%Wﬂgm@gﬁwwﬁmﬁrﬁ@rtﬁg
a%mﬁarftrﬁwwwam1oommﬁmﬁﬁwamﬁwm$maﬁ%aéﬂ
AT FT IRFeleT Hi

Calculate the turning time required to finish cut a mild steel rod of diameter 40mm for 100mm
length in one pass, on a lathe with feed rate of 0.2mm/ revolution and at a speed of 100 rpm?

(a) 2 ™&./min. () 10 B /min.
(¢) 5@ ./min. (d 15 & /min.

100%.#&3113?;?%@%@@%looﬁ.xﬁ.mﬁéaqﬁﬁwamﬁﬁwﬁaﬁ
feretet &2

What is the approximate radius of right circular cylinder of height 100 mm which is cast
from a cube of 100 mm size —

(@) 36 (b) 46
) 56 @ 76

A S e G

What is the area of circle which passes through all the corners of a square of side 8 cm?

(a) 100.5 sq.cm (b)  401.92 sq.cm
(c) 201 sgq.cm (d 64sqg.cm

TR AT T 09" T ah. iy Ry ¥, AR 3F Ao Rraer a AIESOTAT &1 A
.............. gl

A shaft has dimension ﬁ9+0'025/_0‘009mm, the res ective values of fundamental deviation and
P
tolerance are —

(@) 0.025,0.034 (b)  -0.009, 0.034
(©) 0.025,0.016 (d -0.009,0.016

U9 yaue #e F Pfai@a Russa afaar (RPM #) 100, 200, 400 TAT 800 IUesET & e
?rf?r30m/mian,Wﬁgmatazﬁgzoﬁ.m$%aa#%amﬁr%§, HAMT I T

& foIT 3affia RPM fraelr &)

Following spindle speeds (in RPM) are available in a drilling machine — 100, 200, 400 and 800. For
drilling @20 mm hole in mild steel plate, at cutting speed 30 m/min, what is the preferred RPM to
run the machine?

@ 100 () 200
(c) 400 @ 800
14 1380



62.

63.

64.

B5;

66.

3 1. oSTs vk A 95 1 alfde dideg A @Hg, 0.2 A A ganfyar & o daer F
4 3Rl 1 aETAUT 9T AT 95 & e A & AU sEd A @ g anfaa R

o517 gl

While horizontal aligning of a machine bed of 3 m length, spirit level of sensitivity 0.2 mm/m
shows a deflection of 4 graduations. Shim thickness required to be placed underneath to make the
bed horizontal is —

(@) 3.2 A.#AL/mm (b) 3.8 FA.A/mm
(¢) 3.1 A/ mm (d) 2.4 TAA/mm

Ifg Ra=ser 300 RPM &I aIfd & g&ar &, ar 030 Al ae & aoe & e 3nfea &ae
Al (AT #) e e &

What is the approximate cutting speed (in mm/minute) for turning ¢30 mm shaft, if spindle rotates
at 300 RPM?

(a) 28260 (b) 2826
() 9000 - @ 3141

Ifg AT IR (200 TAALEETS) 30° T Th HIUT G4ATT &, aF TGO JATd i 39S 7 9ar ooy
Determine the height of slip gauges if a sine bar (200 mm length) makes an angle of 30°.

(@ 50 (b) 1732
() 100 (d 200

20 fALAL A & UH e & fov fAUiRa @fgsorar b7 ¥ agAcr gfgsorar @A &
fAfaf@a & @ feaer geie

The tolerance specified on a shaft of diameter 20 mm is h7. Which of the following will be the
tolerance allowed in mm?

(@ +0.021, +0.00 (b)  -0.021,-0.00
(c) -0.007,-0.020 (d  +0.008, +0.021

g4oaﬁﬁ?ﬁwmﬁ(éﬂeﬁ’$m%%wmm§v)ﬁﬁam%mﬁ:
100 fAAL 6T 81 038 & O B8R F Ty, TW 80 FAL f deg w @fAg ¥ o wiF
HIHAT FAT g

A taper is to be made (using tail stock offset method) in @40 blank which is 100 mm length. Taper
is limited to a length of 80 mm with a smaller end of 838. What will be the tail stock offset?

(@) 1.25@A.#Ar/mm ®) 2.5 & A/mm
© 0.0125 F.#/mm @  0.025 B /mm
15 1380
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68.

69.

70.

WIGATE A T AR B, AHT FT A e 87

Diameter of a shaft is measured after turning, using a Vernier caliper. Given below is the Vernier
reading, what is the diameter of shaft?

0 2 3 4
am }”_”Im EH!I!HH}HHFHH 1]
BUUUUUULLL]
0123456783510
Main T
Scale Vernier
Scale
(@ 9.65 A.#AT./mm (b)  10.45 F#A/mm
(©) 11.26 A3 /mm d)  11.65 A.Fr/mm

U ST F M12x1.25 5g & & 7 fAfEe B R §1 92 & few wwor #F 5 am i @

gt
A bolt is specified as M12x1.25 5g. Which feature of the thread will have the tolerance 5 g?

(a) 9T SOr/Effective diameter (b) HEI cAE/Major diameter
(c) ogaHA SaR/Minor diameter (d)  @€T3/Length

UF Siae HIgaet # HOW HeUdHiS FAT G, T TET Thel Wi 1957 T IRRR wher
A 3feATRAT T TEAT12 2

What is the least count in a bevel protractor, if main scale graduations are 1° apart and number of
graduations in Vernier scale is 12?

(@ 1 fAse/minute (b) 2 @se/minute
(c) 4 TAse/minute (d) 5 Ae/minute

5 QA Fr 3R Bewr gur 20 I @rﬁ@mﬁﬁmwaﬁm@mwm
URE % &1Fhel fheleT 87

What is the approximate lateral surface area of a right circular cone with radius of base 5 cm
and slant height 20 cm?

(@) 323.6sq.cm (b) 314sq.cm
(c) 31.4sqcm (d 32.36sq.cm
16 1380
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73.

74.

75.

Tsh Feh @ MS x 0.8 & &7 # AR o arar 1 Ifg @) fhe aw Ged &1 oers 4 A

A fastener is designated as M5 x 0.8. If the length of the threaded portion is 4mm, the number
of threads available is

(a) 3.2 (b) 4
© 5 @ 08
FAT Hpeeecnenns T GIAT A G ISR 3 3ifehcs A= 7 el

Tool life in turning will decrease by maximum extent if we double the
(a) HIE F IES/depth of cut

(b) his/feed |

(c) @« dAdT/cutting velocity

(d) 3SR Y& FITtool rake angle

T Hiel o6s & v A, O & 5eud ©3 & F9T gegAT hder gieme

What shall be the approximate mass of a 100mm diameter steel rod for one metre length?

(a) 15 fh.am/ke (b) 42 fFam/ke

(c) 62 fFam/ke (@ 100 fFam/kg

IMSTH3T AfeE T A, T P & d9Y 7 qeg g H IS e L2l

In an ISO Metric thread, the depth of an external thread in terms of pitch P is

(@) 0.613P (b)  0.541P

(c) 0.144P (d  0.866P

IHRGYT 7 TH e H Mg (Feamdr) 0.2 & I7aR [AfiEse g1 g9a Adaq .......... gl

Circularity (roundness) of a circle is specified in a drawing as 0.2. It means

(a) U T3 & &g 0.2 ¥ 9G7 Fhl o/The centre of hole can vary by 0.2

(b) Uuw B & P 0.2 8 dga Fhall o/The radius of hole sai vary by 0.2
(¢) U B &1 oI 0.2 § s FHhal g/The diameter of hole can vary by 0.2
(d) X e F &Y FHAT ged & AT I g, SN R s 0.2 ¥ €

The entire circle should lie between two concentric circles, which are radially 0.2 apart

17 1380
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Rs. 7500 =1 T gr af #F Rs. 1500 & AR sars7 e &war ¥ 9iy a9 SHHT SATST &7
frasir &7

A sum of Rs. 7500 earns simple interest of Rs. 1500 in two years. What is the interest rate
per annum ?

(@ 20% (b) 10%
) 5% (d 30%

9 1T IATHAT TFnl BT 3BT ST §, A ¥ T U o GHGT gl
When three unbiased coins are tossed, the probability of getting no head is

(a) 1/8 . (b)y 7/8

() 1/6 (d 5/6

m-mwmwﬁgaﬁgmaﬁwuﬁﬁﬁﬁﬂtﬁm
Which set does not represent the sides of a right angled triangle?

(@) 12,16,20 ®) 9,56
) 6,10,8 d  15,25,20

M B 3MHR 24 + 0.000/+0.018 TAT AGE IHR 24 +0.020/+0.036 &, @t TeTdH egTaeHIoT

............. gl

If the hole size is 24 + 0.000/4+0.018 & shaft size is 24 +0.020/40.036 the minimum interference is
(@ 0.018 &A.HA/mm (b)  0.02 FAHA/mm

(c) 0.020 A7 ./ mm (d  0.036 A.H./mm

wwagﬁaaw&?m%ﬁ%lmwmmﬁmmﬁ,mgﬁga%w
B Sisirsmnsiuans gl

The area of an equilateral triangle is 8 cm®. Then the area of hexagon whose side is same as that of
the equilateral triangle is

(@ 38cm’ (®) 18 cm?
(c) 28cm? @ 48cm®
18 1380



